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http://maru.bonyari.jp/texclip/texclip.php?s=$/displaystyle P(-t_{/alpha/2}(n-1) /leq t /leq t_{/alpha/2}(n-1))=1-/alpha$
http://maru.bonyari.jp/texclip/texclip.php?s=$/displaystyle P(-t_{/alpha/2}(n-1) /leq t /leq t_{/alpha/2}(n-1))=1-/alpha$
http://maru.bonyari.jp/texclip/texclip.php?s=/[  P(/overline{X}-t_{/alpha/2}(n-1) /cdot s//sqrt{n} /leq /mu /leq /overline{X}+t_{/alpha/2}(n-1) /cdot s//sqrt{n}) = 1-/alpha/]
http://maru.bonyari.jp/texclip/texclip.php?s=/[  P(/overline{X}-t_{/alpha/2}(n-1) /cdot s//sqrt{n} /leq /mu /leq /overline{X}+t_{/alpha/2}(n-1) /cdot s//sqrt{n}) = 1-/alpha/]
http://maru.bonyari.jp/texclip/texclip.php?s=$t_{/alpha/2}(n-1)$
http://maru.bonyari.jp/texclip/texclip.php?s=$t_{/alpha/2}(n-1)$
http://maru.bonyari.jp/texclip/texclip.php?s=$t(n-1)$
http://maru.bonyari.jp/texclip/texclip.php?s=$t(n-1)$
http://maru.bonyari.jp/texclip/texclip.php?s=$/displaystyle [/overline{X}-t_{/alpha/2}(n-1) /cdot s//sqrt{n}, /  /overline{X}+t_{/alpha/2}(n-1) /cdot s//sqrt{n}]$
http://maru.bonyari.jp/texclip/texclip.php?s=$/displaystyle [/overline{X}-t_{/alpha/2}(n-1) /cdot s//sqrt{n}, /  /overline{X}+t_{/alpha/2}(n-1) /cdot s//sqrt{n}]$

2 X = (n—1)s*/o? ~ x2(n— 1)

P(X%—aﬂ(n - 1) < X2 < X?x/z(n — 1)) =1—«

@ X%—a/z(” — 1): Xﬁ/z(n— 1) n-1 .
xi(n —1) 100(1-U/ 2) , 100U/ 2
_ 2 . 2
p (2'n, 1)s < o? < 2(n 1)s —1_ g
Xa/z(n — 1) Xl_a/z(n — 1)
o2 1-U
- (n — 1)s? (n — 1)s? -

X(zx/z('”' - 1)’ X%—a/z(” - 1)



http://maru.bonyari.jp/texclip/texclip.php?s=$/displaystyle P(/chi^2_{1-/alpha/2}(n-1) /leq /chi^2 /leq /chi^2_{/alpha/2}(n-1))=1-/alpha$
http://maru.bonyari.jp/texclip/texclip.php?s=$/displaystyle P(/chi^2_{1-/alpha/2}(n-1) /leq /chi^2 /leq /chi^2_{/alpha/2}(n-1))=1-/alpha$
http://maru.bonyari.jp/texclip/texclip.php?s=$/displaystyle /chi^2(n-1)$
http://maru.bonyari.jp/texclip/texclip.php?s=$/displaystyle /chi^2(n-1)$
http://maru.bonyari.jp/texclip/texclip.php?s=$/displaystyle /chi^2_{1-/alpha/2}(n-1), / /chi^2_{/alpha/2}(n-1)$
http://maru.bonyari.jp/texclip/texclip.php?s=$/displaystyle /chi^2_{1-/alpha/2}(n-1), / /chi^2_{/alpha/2}(n-1)$
http://maru.bonyari.jp/texclip/texclip.php?s=$/displaystyle /chi^2=(n-1)s^2//sigma^2 /sim /chi^2(n-1)$
http://maru.bonyari.jp/texclip/texclip.php?s=$/displaystyle /chi^2=(n-1)s^2//sigma^2 /sim /chi^2(n-1)$
http://maru.bonyari.jp/texclip/texclip.php?s=$/displaystyle /sigma^2$
http://maru.bonyari.jp/texclip/texclip.php?s=$/displaystyle /sigma^2$
http://maru.bonyari.jp/texclip/texclip.php?s=/[    P/left( /frac{(n-1)s^2}{/chi^2_{/alpha/2}(n-1)} /leq /sigma^2 /leq /frac{(n-1)s^2}{/chi^2_{1-/alpha/2}(n-1)}  /right)=1-/alpha/]
http://maru.bonyari.jp/texclip/texclip.php?s=/[    P/left( /frac{(n-1)s^2}{/chi^2_{/alpha/2}(n-1)} /leq /sigma^2 /leq /frac{(n-1)s^2}{/chi^2_{1-/alpha/2}(n-1)}  /right)=1-/alpha/]
http://maru.bonyari.jp/texclip/texclip.php?s=$/displaystyle /left[/frac{(n-1)s^2}{/chi^2_{/alpha/2}(n-1)}, / / /frac{(n-1)s^2}{/chi^2_{1-/alpha/2}(n-1)}/right]$
http://maru.bonyari.jp/texclip/texclip.php?s=$/displaystyle /left[/frac{(n-1)s^2}{/chi^2_{/alpha/2}(n-1)}, / / /frac{(n-1)s^2}{/chi^2_{1-/alpha/2}(n-1)}/right]$
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http://maru.bonyari.jp/texclip/texclip.php?s=/[  /left[/overline{X}-/overline{Y}-t_{/alpha/2}(m+n-2) s /sqrt{/frac{1}{m}+/frac{1}{n}}, / /      /overline{X}-/overline{Y}+t_{/alpha/2}(m+n-2) s /sqrt{/frac{1}{m}+/frac{1}{n}} /right]/]
http://maru.bonyari.jp/texclip/texclip.php?s=/[  /left[/overline{X}-/overline{Y}-t_{/alpha/2}(m+n-2) s /sqrt{/frac{1}{m}+/frac{1}{n}}, / /      /overline{X}-/overline{Y}+t_{/alpha/2}(m+n-2) s /sqrt{/frac{1}{m}+/frac{1}{n}} /right]/]
http://maru.bonyari.jp/texclip/texclip.php?s=$/displaystyle N(/mu_1,/sigma_1^2),/ / N(/mu_2,/sigma_2^2)$
http://maru.bonyari.jp/texclip/texclip.php?s=$/displaystyle N(/mu_1,/sigma_1^2),/ / N(/mu_2,/sigma_2^2)$
http://maru.bonyari.jp/texclip/texclip.php?s=$/mu_1-/mu_2$
http://maru.bonyari.jp/texclip/texclip.php?s=$/mu_1-/mu_2$
http://maru.bonyari.jp/texclip/texclip.php?s=$/sigma_1^2=/sigma_2^2=/sigma^2$
http://maru.bonyari.jp/texclip/texclip.php?s=$/sigma_1^2=/sigma_2^2=/sigma^2$
http://maru.bonyari.jp/texclip/texclip.php?s=/[  /left[/overline{X}-/overline{Y}-t_{/alpha/2}(/nu^{/ast})  /sqrt{/frac{s_1^2}{m}+/frac{s_2^2}{n}}, / /      /overline{X}-/overline{Y}+t_{/alpha/2}(/nu^{/ast}) /sqrt{/frac{s_1^2}{m}+/frac{s_2^2}{n}} /right]/]
http://maru.bonyari.jp/texclip/texclip.php?s=/[  /left[/overline{X}-/overline{Y}-t_{/alpha/2}(/nu^{/ast})  /sqrt{/frac{s_1^2}{m}+/frac{s_2^2}{n}}, / /      /overline{X}-/overline{Y}+t_{/alpha/2}(/nu^{/ast}) /sqrt{/frac{s_1^2}{m}+/frac{s_2^2}{n}} /right]/]
http://maru.bonyari.jp/texclip/texclip.php?s=/[ /nu = /frac{/left( /frac{s_1^2}{m} + /frac{s_2^2}{n}  /right)^2}{/frac{(s_1^2/m)^2}{m-1}+/frac{(s_2^2/n)^2}{n-1}}/]
http://maru.bonyari.jp/texclip/texclip.php?s=/[ /nu = /frac{/left( /frac{s_1^2}{m} + /frac{s_2^2}{n}  /right)^2}{/frac{(s_1^2/m)^2}{m-1}+/frac{(s_2^2/n)^2}{n-1}}/]
http://maru.bonyari.jp/texclip/texclip.php?s=$/nu^{/ast}$
http://maru.bonyari.jp/texclip/texclip.php?s=$/nu^{/ast}$

Fi_g/2(m—1,n— 1)s5/s2, Foo(m—1,n — 1)5%/5%]
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http://maru.bonyari.jp/texclip/texclip.php?s=/[  /left[F_{1-/alpha/2}(m-1,n-1)s_2^2/s_1^2, / / F_{/alpha/2}(m-1,n-1) s_2^2/s_1^2 /right]/]
http://maru.bonyari.jp/texclip/texclip.php?s=/[  /left[F_{1-/alpha/2}(m-1,n-1)s_2^2/s_1^2, / / F_{/alpha/2}(m-1,n-1) s_2^2/s_1^2 /right]/]
http://maru.bonyari.jp/texclip/texclip.php?s=$/sigma_2^2//sigma_1^2=1$
http://maru.bonyari.jp/texclip/texclip.php?s=$/sigma_2^2//sigma_1^2=1$

[ﬁ_ Z(}:/Z\/ﬁ(l — ﬁ)/n: 5 Z(}:/Z\/ﬁ(l — ﬁ)/n]

A

[X — Za/z\/m, X+ Za/z\/j\%]


http://maru.bonyari.jp/texclip/texclip.php?s=/[  [/widehat{p}-Z_{/alpha/2} /sqrt{/widehat{p}(1-/widehat{p})/n},/ / /widehat{p}+Z_{/alpha/2} /sqrt{/widehat{p}(1-/widehat{p})/n}]/]
http://maru.bonyari.jp/texclip/texclip.php?s=/[  [/widehat{p}-Z_{/alpha/2} /sqrt{/widehat{p}(1-/widehat{p})/n},/ / /widehat{p}+Z_{/alpha/2} /sqrt{/widehat{p}(1-/widehat{p})/n}]/]
http://maru.bonyari.jp/texclip/texclip.php?s=/[  /left[/widehat{/lambda}-Z_{/alpha/2} /sqrt{/widehat{/lambda}/n},/ / /widehat{/lambda}+Z_{/alpha/2} /sqrt{/widehat{/lambda}/n}/right]/]
http://maru.bonyari.jp/texclip/texclip.php?s=/[  /left[/widehat{/lambda}-Z_{/alpha/2} /sqrt{/widehat{/lambda}/n},/ / /widehat{/lambda}+Z_{/alpha/2} /sqrt{/widehat{/lambda}/n}/right]/]
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